PISCO.

http://en. PiSCO.CO.jp

(22§ Branch Y | OP.] (28] (cAD] B
. 2-6D J 2-0D 2
D | leerfE @ NEOPERATR [T
"’ S SO I
al -~ - I il — m ﬁ
B 04.5 ?
=\ H @ < 5rr\H B s
== N R =
< Metric thread type @16mm type Unit © mm
PX4-M5 @ M5X0.8 2.8 (3)| 32.9 30.(299] 8 2.4 8 |PXd-M5_[C)
PX4-M6 @ M6X1| 38 | 364 | 326 3 11 |PX4-MB_C)
PX4-01 @ 4 R1/8 8 384 | 344 | O | 148 103110 3.1 13 |PX4-01_
PX4-02(@ R1/4 | 11 | 434 | 374 14 33 20 |PX4-02_
PX6-M5® M5X0.8 2.8 (3)| 38.3 [355(353) 2.4 13 |PRENELC)
PX6-M6 @ M6X1| 38 | 393 | 355 10 3 PX6-MELC) IS
PX6-01@ 6 R1/8 8 413 | 373 | 125 | 17 | 125 4.2 15 |PX6-01_ gg
PX6-02(@ R1/4 | 11 | 483 | 422 14 L8 22 |Px6-02_ B
PX6-03(@ R3/8 | 12 | 51.3 | 449 17 ’ 33 |PX6-03_ [
PX8-01@ R1/8 8 461 | 421 12 5.9 20 |PX8-01_
PX8-02(@ 8 R1/4 | 11 | 493 | 433 | 145 | 181 | 145 | 14 6.2 25 |PX8-02_
PX8-03@ R3/8 | 12 | 525 | 462 17 6.6 36 |PX8-03_
PX10-01 @ R1/8 8 498 | 458 12 6 27 |PX10-01_
PX10-02@ R1/4 | 11 | 536 | 476 14 7.2 32 |PX10-02_
PX10-03@ 10 R8s | 12 | 567 | 504 | /0| 202 175 g 7.4 43 |PX10-03_
PX10-04 (@ Ri/2 | 15 | 602 | 52 21 7.8 66 |PX10-04_
PX12-02@ R1/4 | 11 | 586 | 526 14 75 40 |Px12-02_ TR
PX12-03@ | 12 R3/8 | 12 | 606 | 543 | 21 | 234 | 21 17 | 84 | 51 |pxi203 |
PX12-04 @ Ri/2 | 15 | 647 | 565 21 8.3 74 Px12-04_ [N
PX16-03@ R3/8 | 11 | 76.1 | 69.8 11 89 |PX16-03_
PX16:04® | © | Ri2 | 15 801 | g | 2> | M 222 oo o3 picos. (ke
PX5/32-01(@ R1/8 8 384 | 344 10 3.1 13 |PX5_32-01_
Px5/32-02@ %% | Ria | 11 434 | 374 0 149 103 s o0 e A
PX3/16-01@ R1/8 8 417 | 37.7 10 4.2 15 |PX3.16-01_
PX3/16-02@ 816 pia | 11 | 487 | a2e | 20| 174 125 Ty 5.1 23 |PX3.16-00 seres
PX1/4-01 @ R1/8 8 413 | 37.3 10 4.2 15 |PX1_4-01_
PX1/4-02@ | 1/4 Ri/4 | 11 | 483 | 422 | 125 | 17 | 125 | 14 5.2 22 |PX1_4-02
PX1/4-03@® R3/8 | 12 | 51.3 | 449 17 5.5 33 |PX1_4-03.
PX5/16-01 @ R1/8 8 461 | 421 12 5.9 20  |PX5_16-01_
PX5/16-02@| 5/16 | R1/4 | 11 | 493 | 433 | 145 | 181 | 145 | 14 6.2 25 |PX5_16-02
PX5/16-03(@ R3/8 | 12 | 525 | 462 17 6.6 36 |PX5_16-03.
PX3/8-01 @ R1/8 8 498 | 458 12 6 27 Px3s-0. (R
PX3/8-02(@ 38 Ri/4 | 11 | 536 476 | .o | 05 | qop |14 7.2 33 |PX3.8-02 e
PX3/8-03@ R3/8 | 12 | 56.7 | 50.4 17 7.4 44 |Px3.8-03_ [
PX3/8-04(® Ri/2 | 15 | 602 | 52 21 7.8 67 | PX3.8-04_
PX1/2-02@ R1/4 | 11 | 589 | 529 14 | 75 | 39 |pxi2or [SE
PX1/2-03@ | 1/2 R3/8 | 12 | 609 | 546 | 21 | 237 | 21 17 84 51 |Px12-03. (e
PX1/2-04 @ R1/2 15 65 56.8 21 ' 74 |PX12-04_ |
¥ 1. @ in Model code / Replaced with "W" for Light-gray color, "-C" for Clean-room package, "W-C" for Light-gray color and Clean- Block and
room packge, "-UC" for Clean-wash and Clean-room package Comect
¥ 2. "L’ is a reference value for height dimension after tightening taper thread. Coupling

% 3. Dimensions in [ ] are for clean-room and clean-wash package products.
% 4. Orifice bore is the smallest passage converted in terms of the diameter.

Page for special specifications 3D CAD data is available at PISCO website. CAD data is available at PISCO website.




